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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP5 0
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P5

WREHRERIRA (1.03) , FRE
EREBUE LR (0.5 vs 1.03), AIREA S MREIENEBEESKERE

BRIASEFRIERE100. 0 ml.

BYiE) | GEBRAK @) | ERE (EAH/K (XS R

07:45 182 100. 0 5| 1Ri%e07:45 B (GREMERE)
08:30 182 100.0 5| 1Ri%e08:30 B (RFEHERE)
09:25 182 100.0 = RRi8009:25 B (REAEEE)
10:15 182 100. 0 F BRi&e10:15 Bzl (GRAERESE)
11:00 182 100.0 sl RRiB@11:00 B (REAERESE)
11:45 182 100.0 =l Rige11:45 Bz (REAEREE)
12:30 182 100. 0 F BRige12:30 Bz (GRAERESE)
13:15 182 100.0 =l Rige13:15 Hah (REAERESE)
13:55 182 100.0 =l {Rige13:55 B3 (RAERSE)
15:05 182 100. 0 F BRi&e15:05 Bzl (GRAERESE)
16:35 182 100.0 5| {Ri%e16:35 Bz (FAERSE)
23t+]2002.0 (113%) 1100.0 EIFKEC: 2413.0, PH: 6.5
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23] 728.0 (4%) 400. 0 3Z3KEC: 2470.0, PH: 6.2
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